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% N&R Prob. 5.39(d).
% Create resistances between @ and 6.5k, but will leave "k" understood.
rl = linspace(0, 6.5, 351);
% Current for R_L less than 3k is a constant 2 mA.
= (2) x (rl < 3);
% Add current for R_L greater than 3k when output fixed at 9 V.
il =4il + (9 ./ (rl + 1.5)) .x ~(rl < 3);

plot(rl, il, ‘LineWidth', 2 )

grid on

set(gca, 'FontSize', 16)

xlabel('$R_L$ [k$\Omegas$l', 'Interpreter', 'latex')
ylabel('$i_L$ [mAl', 'Interpreter', 'latex')
title('Load Current vs. Load Resistance')

axis([0 6.5 0 2.5])
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= linspace(-0.5, 1.5, 601);

v
vl

zeros(1,length(t));
—0.15 x (2 *x t + 1) .*x exp(-2 x t);

plot(t(t<@),vo(t<@), 'b', 'LineWidth', 2)

hold on

plat(tlaliClt == 9; "t ==:1]1), vi(all{lt >= 0; &t == 1)),
'b', 'LinewWidth', 2)

plot(t(t>1),ve(t>1), 'b', 'LineWidth', 2)

xlabel('$t$', 'Interpreter', 'latex')

ylabel('$v(t)$', 'Interpreter', 'latex')

grid on

axis([-0.5 1.5 -0.16 0.01])

set(gca, 'FontSize', 18)

-0.02 - |
-0.04 + ]
-0.06 - ]
% -0.08 + 4 )

-0.1 ]

-0.12 - 1

-0.14 - , |

-0.16 ' ' ,
0.5 0 0.5 1 1.5




EE 26! | Spreng 2025 | Homework 37 (@

44> C= WO}}F lf)¢‘4"-/‘ (l,\’b“-”f/ Jnc]q_/ggl
V() = ES TOLAE AR

70

For 140, v, (t)= (Og/@/o\'ﬂ—fv(——(?@) ..,@)/

Neter v, (1) =-S5V

o 141225 v ()= J)/ffo’”t4 v Cl} O-5N = -5V
Note c<2)~—=5\/ K H

|Por 2414 9 v, [1)= 0 (x1 ()%)'z \/(2) S/tig
| ) | 3
[ Note . VC(_S‘)Z O\/ Ea

|For £73, W(t)=1 JGJ% +V(3) =040 = O

Qv Sor 140
-V S 0T 5 1S
= V. () = TV  for 14TZ2S

S(t-3)V Yo AZ2t%35
O $hr £Z 38

UL, mA e, v

~y

O

For 04 21s, Y (t)= (mo e +1,(0) = Sz}o:«g—w

5 =5(t-2)-5=5(t-3|V

~0.5 &




M
171
N
o~

o VouT

! L
=
= .
T v’\n Oé {
= € — -
1 OA

Can 000/\ ’/Ot‘]

(W | s
i = de A
r \E 7/ 3:_.,14 r

751

| zoojagz

I
2T

&

S

s_\,
/

d

= Vool = I0
AS?{JE; T'f iere.
A ) \
A\ T .{’{"J"::
d (m\ 1e ?’

Yio

/ Fﬁ‘i
';/}7',/'74’£_V
‘7% > 5//\ wA
7 / N - Ay 7
i \ (
/ \ o ,s{‘ /‘332/
Ll 4
v v
12~ ) ;!
,‘;; &.ﬁ:’ !/1\/6/ Ty
) X
iO/T - r

\/,/\7_J \/

/l’}

SO Wd

S a ’7k_/

~ (ad

( f~*)‘.'f‘m\o]7.\: \}’W\f@ bk o

- 8163 V

I/ 81D (37} “E"/;’,f
J)J’\ ,Ls (ﬂl/ hon- M\/c;[
‘{’erwtma,(,

t)

| A
2] 0k 4 { CrcTars
Cacn v [ YEL 1L (or]s
-
e S ¥ )
(ance 55 35040






